30 Child Development & Pedagogy Questions Set (All are important)

Topic:- Child Development & Pedagogy (CDP)

1) A person’s IQ is initially represented by ratio of a person’s age divided by his/her age. / foreft safeg &1 §'@ afsr
B L= A ITBL g A fywnfira 3w aafed #t AT F 3IUTd J AT AT B

1. Real Intentional, Stereotyping / CIESIEED STI%, wiRarersfi
2. Chronological, Neurological/ WTW, Aafas

3. Chronological, Mental/ W'Iﬂaﬂ—ma'?, RS

4. Mental, Chronological/ ORI, Ww

Correct Answer :-

» Mental, Chronological/ qﬂm, W&Fﬁ

2) Which genetic problem is associated with heart defects? / TG4 fapR & a1y i Hﬁﬁlﬁﬁ? T R?
1. Turner’s syndrome / Eﬁ?ﬁl@ﬂ

2. Down’s syndrome / ST3 m@’q

3. Autism / 3fffcoH

4. ADHD / Qé Qaé

Correct Answer :-

» Down’s syndrome / ST3 ﬁ@'ﬁ[

3) Which of the following age ranges is considered early childhood? / fafafaad 4 fea 3y a1 Y R I JET ST %?
1.7t011/79 11

2.Birth to 2/ SH 2

3.31012/39 12

4210 6/29 6

Correct Answer :-
2t 6/296

4) The pain of a shoe bite from a new pair of shoes currently being worn is an example of / FaaE o ‘Tflef ST ?% Fﬁ ol Th T{ \'rﬁﬂ J Eﬁ &
HIeA B &6 THPT TP IS &:

1. Long-term memory/aﬁ-mm
2. Episodic memory /mgﬂﬁf

3. Immediate memory /Wgﬂﬁ
4. Sensory memory/ﬂ%ﬂﬂﬁf

Correct Answer :-



« Immediate memory /WF{%

5) Ecological System theory, originally formulated by Urie bronfenbrenner, specifies four types of nested environmental systems that are

also called .l Rigia, St g U A I BT gRT AR {51 741 B, IR UPR & RS
vaferor yonfera) &) ey #war & g Wit g1 wTaT 1

1. Influential conceptualization/ THTGRITE SR
2. Human development/ HIFd fawr

3. Human ecology/ HIFd BUREIGED]

4. Intellectual development/ e e

Correct Answer :-

» Human ecology/ HI1d uRfRufaet

6) Re-directing energy or aggressive goals toward new aims, often artistic, intellectual or cultural goals is called ./ T aga Bt

3R Sl a1 I IMPTHS &0} B T: PR 1, o R $aE®, Sfgs AuRghe asasae,_ sgadiel
1. “Sublimation / G?IWUT

2. Compensation / IRCRE

3. Affiliation / HeYU=

4. Rationalization / W
Correct Answer :-

« " Sublimation /E?:IT—ﬂW

7) Which of the following agencies is responsible for preparing curriculum framework for school education in India? Fafafeadd

B 0 T, HRd H el e & g wrewsmd Tt 4R #4 & g Irerd 82
1. NCERT

2. NEUPA

3.NCTE

4.RCI

Correct Answer :-

« NCERT

8) Law of Readiness highlights the need of before learning. / AURdT BT (=1aH, SfERTH @'Ti‘ |
ATIIH T IR YR ST 3 |

1. Experience / 3JHd

2. Reinforcement / W
3. Practice / 3{¥TY

4. Maturation / gfuesdr

Correct Answer :-

. Maturation / ORT&dI



9) What is the ‘magic number’ according to Miller’s theory on chunking? / TR R & Rigia & SR BT e T %?
1.2 (+/-3)

2.9 (+-1)

3.5(+-2)

4.7 (+/-2)

Correct Answer :-

o 7(+-2)

10) What type of Gardner’s multiple intelligences is used during a dance performance? / T4 W ¥ aTF{, TMERF FPATPR & 98
i &1 IuEhT far wrar 22

1. Naturalistic intelligence /Fﬂ?ﬁﬁﬁ Tg’@
2. Intrapersonal intelligence / SRTaTfFID @'@
3. Linguistic intelligence / Wﬁ@

4. Bodily-kinesthetic intelligence / ITRIR&-Tfawiad! G

Correct Answer :-

« Bodily-kinesthetic intelligence / ARIR&-Tfadde S

11) What do individuals scoring highly on neuroticism experience? /HTg'lﬂ'lT (ﬂ{ﬁﬁ%m) 3JHa o, aafet o1 Taifas 3JHa garg?
1. Uncontrollable happiness/ Sfafa g

2. Mixed emotions/ Tf3d H1d

3. High stress and anxiety/ 3= d-ld 3R YSRTET

4. Positivity/ HHRIHDT

Correct Answer :-

» High stress and anxiety/ 3@ d-ld 3R LENR

12) As a teacher, what is the best way to help students in a problematic situation? / b e & wu o, guwnr fRufa o s& $1 aeg
PR BT AT 3BT ANDBT T §?

1. By reward / 319 &R

2. By punishment 8 TR

3. By providing solution / HHIYTT Uqld TR

4. By giving similar type of problem to solve / gd FH & T S THR B AT ThR

Correct Answer :-

» By giving similar type of problem to solve / gdl PH P fom o<t UeR &t T TR

13) Children start experiencing peer group influence by around the age of: / T daHied 9 31 J mw YHTT BT SJHT BT
Y& P CA &

1. Five years / Uf9 CL
2. Four years / IR CL
3. Three years / d g

4. Six years / 9: CL



Correct Answer :-

» Three years / Gk

14) Which of the following is not a characteristic of working memory? / fFafafaa d @ 19 g '\qiﬁf (ilﬁ»‘rl m P fa=iwar qﬁ
&

1. It involves rehearsal / 9% Redd =i g1

2. It is permanent / Ig EIinikd

3. Itis active/q_s'ﬂﬁ')_qgl

4. It involves manipulation / Bt \_rh?f-?h?f AR

Correct Answer :-

« Itis permanent / T8 R R

15) Which of the following best describes ‘learning’? / fFrafafaa d & H19-91 'R 1 e 33T auiq Hedr %?

1. The process of acquiring knowledge and skills through listening to the teacher. / Rerew & ﬁ'_‘ﬁ'{ F HTEH J I 3R DI YT HRA B Uieha|
2. The process of gaining facts and information through rote memorization. / J& JERUI P 1Y T ql 3R TSR U B B Ui |

3. The process of gathering information by reading and writing. / ua?r IR foraA & INISSIBEAR ELl Caskatiil

4. The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses and sharing./ 3 fag ? @Iﬂﬁ‘-ﬁﬁ Y,
3ot SR FreHRur & A1 U 1, SN IR FeH Ui 3 &1 ufshan

Correct Answer :-

o The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses and sharing./ 3 o=y 3133-@ HYYH,
Sl SR WIhRr & HIeAH I 1, SIS SR FueH Ui HeA &1 ufssan

16) Which of the following stages of psychosocial development do not occur in childhood? /AT faer & Fafafea wul d S
TR g9U A T8 grar 82

1. Autonomy vs. shame / TITRIAT &9 TH
2. Trust vs. mistrust / YT S99 3ifayr
3. Intimacy vs. isolation / 3fdITAT SHTH 3feTd

4. Initiative vs. guilt / TGS STH S(ORTY SYf

Correct Answer :-
« Intimacy vs. isolation / 3{dITdT S e TId

17) Which of the following embodies the idea that individuals learn through experience? / fFrafafaa ¥ & &9 a1 fer 1Icf T adar % od
ITUT & AN | e WA 32

1. Universality / JdameHd
2. Nature / 1;@7—%

3. Nurture / TTq0T

4. Determinism / Fafdarg

Correct Answer :-

« Nurture / QSOT

18) Physical development in the child slows down by the age range of: / ¥ # IRR® faer g 3g At o <t _Eﬁ SITdT %:



1. 6-9 years / 6-9 CL
2. 3-4 years / 3-4 T8
3. 5-6 years / 5-6 CL

4. 4-5 years / 4-5 CL

Correct Answer :-

» 5-6 years/5-6 CL

19) Language of word is not necessary for: / RTSG} BT UTHT 3P Qg STIRGP 1 &
1. Conceptual thinking / Fie fefa=

2. Perceptual thinking / YRUTHD fid

3. Imaginative thinking | BRI fefaA

4. Associative thinking / TTg=d ffd=

Correct Answer :-

« Imaginative thinking / Heg-TRid feiad

20) While Piaget gave importance to biological factors governing development, Vygotsky ascribed importance to MicicEiccankal

i #39 91d Sifde PRSI %) wew four, safe agmee! A 39& Hed $T HRU Ia[T:
1. Thinking process / feia Ufgsan

2. Social interaction / WTHIfTE Wadh

3. Physical factors / Hifd® ®R®B

4, Environmental factors / T{aRUN HR&

Correct Answer :-

« Social interaction / T TUH

21) Students from underprivileged background are facing learning difficulty. Most likely factor that is affecting them is -/ dfera qg'ﬁ[ﬁl’ F ol

@1 WREA  BISATE BT T BT U V61 81 Had WHIad SRS Wil 38 qUTfad SIET2 I8 -
1. Individual needs/ SATERTTTA TRIDTY

2. Lack of sleep/ Hiq @t Hat

3. Stress/ d-1d

4. Cognitive capabilities/ GITHTEH® &

Correct Answer :-

« Individual needs/ SfRRTA SfTa=GehdTd

22) MBTUI’s approach for a personality assessmentis ./ HfwTa W ¥ ﬁ? @ﬁaﬂé CafSbcal . %I
1. Perception/ YRRUIT

2. Projective/ gady

3. Structured/ IR

4. Judging/ 3T

Correct Answer :-

« Structured/ TG



23) The theory of Constructivism was propounded by . /ﬁ'ﬂfm Cal ﬁ’l@'l?[ - F gRT mﬁﬂ T T AT
1. Erikson / Qﬁ_cﬂ:l:f

2. Bandura / ﬁ@

3. Vygotsky / ITSTIcb!

4. Kohlberg /W

Correct Answer :-

» Vygotsky / W

24) When new ideas are incorporated into existing ideas they are known as WA LKLY ICEIRED] ﬁw oAt o wnfre fvam siman %, ar
K FEUAIAATACIG

1. Accommodation / 3{IH AT
2. Replication / uf?@f?ﬁm

3. Assimilation / STHITIH T
4. Reproduction / §T=dlad
Correct Answer :-

o Assimilation / STHIATIDH T

25) Using our phones while driving is an example of what kind of attention? /313%11 P THY GUR B BT SUTNT BT {6 YhR & Sr@ae=
T TS IQTEX 32

1. Signal attention / Rra 3raem
2. Diffuse attention / ﬁW 3{AY
3. Selective attention / IGATHD AYTT

4. Divided attention / favad sfaem

Correct Answer :-

« Divided attention / fq¥a s@em

26) students with learning disabilities have significant in a school related area such as reading, writing,
reasoning, listening or math’s. / W@ B} SH&HAT AT BT D! TP A A Wl &1 A g1, fora=n, adb =,
G 91 1fOTd W Hgeaqul HGI

1. Grasping / JHL

2. Knowledge /aﬂwr\ﬁ

3. Problems / GHITU

4, Difficulties /H’Tf%_ﬂg'q:f

Correct Answer :-

« Difficulties /W

27) Which of the following approaches to motivation does not rely on an intrinsic source? / 3fARoT %ﬁ’l‘({ ﬁ'aﬁ-@?rﬁﬁaﬁ?m
RFI0 TE sriafke da R R T srarg?

1. Cognitive / TS

2. Humanisﬁc/ﬂ'l:laa'l—cf\[



3. Behavioural / SAGGRATG!
4. Socio-cultural /W-W

Correct Answer :-

« Behavioural /W'RHEOT

28) Failure in performance is an essential part of Child learning process because: /'Flﬂ"\’hﬁ' P dl, T $ R P mmw Siferard
e g wif:

1. it helps in developing self awareness. / dg 3H SIFRe bl (A RId HI fﬂﬁ?m%l
2. it prepares children for unpleasant experiences. / dg a?cﬁa’ﬁ@ %W%m TR WT%I
3. it helps student in re examination. / dg Y uﬁ&nﬁwﬁmm%l

4. it empowers children to understand that taking risks, big or small, is crucial in their learning journey. / Ig = aﬁmﬁésmwaaw % f&
ST, ST 41 BT A1, 399 S & Uy & Heayu 81

Correct Answer :-

« it empowers children to understand that taking risks, big or small, is crucial in their learning journey. / Ig = aﬂawﬁ%ﬁmwraam % f&
S, ST 41 BIeT A1, 399 ST & Uy & Fe@yu 81

29) ‘Laura can design a spreadsheet’. This statement is an indicator of which attribute of aptitude test? / ‘?I'T?T, T Texfie %Trl'l?ﬂ' BT Pl %I'
g By NSRRI wfieror 1 frw fayar &1 @e 82

1. Clerical thinking/ BTIRIT (et /iaq
2. Logical thinking/?fé%m@f
3. Organisational thinking/ T3 ERE

4. Numerical thinking/ 3 fidH

Correct Answer :-

e Logical thinking/ﬁ&‘ﬂ%

30) Which of these could be a cause for GDD?

/TR A I S8} & T T SRUI g gPar 82

1. Childhood infection / S/EIU T b HUT

2. Childhood obesity / ST T HieTdT

3. Strict parenting / T IRART

4. Excessive intake of sugar and additives/ T 3R ufsfesy @1 i Ja=

Correct Answer :-

« Childhood infection / ST &1 HehHUT



